17.01 27
JORRIO
5z—2y =5 '3 °
b) 3z—y =10 (-5) | . (—2.)
6 =6y =15 (5 5x-2y =5
—ISK +5] = ~-50 —Ex 4 2y = =20
dﬂé} = —35 ﬁx = J/fg

= = 7% . %Kt%g S‘{(ﬁ,zsﬁ



op Solotions  Sout  dowdey  par Lo pouk e G drote z=g4+f

A Q)
e) 2z+4y =95 1
r+2y =2 (-2

() 2x+%g:a5

SR L S=@
O = A

(o dwx dvote Sout Mr&ﬁ@\{w




g [ 72w+ 14y =330
63z + Ty=273

® eql:36x + 7y = 165 efqdqg?2
® eq2:9x +y=39 2
® A=(4,3)
6
5
4
A




Q| ® () x—Y-2 =4
r— y— z2=6 |1 -5
k) { r—2y—3z=10 '(_O —X %27/ %3 2 = — )
bxr+6y+ z=2 9(4)
¥ 2z =~y
O,
/4/)7"’6%:257 ¢/ _ 5y ”67‘% -,
X = -4 = £
My —6 2 =2y
My — 6 = 23

sote 13,02 29 162 = — 4



